ST. MARTIN PARISH

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Hardwood				7,510	cords	
Pulpwood (Total)				7,510		
Saw Timber						
Hardwood				3,377,519	board feet	
Saw Timber (Total)				3,377,519		
Total Pulpwood, Chip & Saw,						\$1,953,258
Saw Timber FOB Mill						
Total Forestry Stumpage						\$1,149,215
(Total)						
Forestry (Total)						\$1,953,258
FRUITS						
Citrus						
Satsumas	*	7.0	500.00	3,500	bu.	\$70,000
Citrus (Total)		7.0				\$70,000
Figs (Total)	15	10.0	300.00	3,000	lbs.	\$5,250
Fruits (Total)		17.0				\$75,250
FEED GRAINS						
Corn (Total)	*	7.0	60.00	420	bu.	\$1,113
Grain Sorghum (Total)	*	1,102.0	60.00	66,120	cwt.	\$309,838
Feed Grains (Total)		1,109.0				\$310,951
Home Gardens (Total)	3,100					\$620,000
NURSERY CROPS						
Woody Ornamentals (Total)					acre	\$30,000
Nursery Crops (Total)						\$30,000
PECANS						
Improved (Total)	8	100.0	450.00	45,000	lbs.	\$58,500
Native (Total)	1,000	750.0	600.00	450,000	lbs.	\$427,500
Pecans (Total)		850.0				\$486,000

Rice (Total)	16	4,206.0	54.00	227,124	cwt.	\$2,021,404
Soybeans (Total)	12	6,000.0	30.00	180,000	bu.	\$1,054,080
SUGARCANE						
Raw Sugar (Total)	59	30,131.0	6,300.00	189,825,300	lbs.	\$22,779,036
Molasses (Total)		30,131.0	189.00	5,694,759	gal.	\$1,138,952
Sugarcane (Total)		30,131.0				\$23,917,988
VEGETABLES						
Cabbage						
Fresh	*	2.0	550.00	1,100	sacks (50 lbs.)	\$9,900
Cabbage (Total)		2.0				\$9,900
Okra (Fresh) (Total)	18	70.0	225.00	15,750	bu.	\$472,500
Peppers						
Cayenne (Processing)	*	4.0	65.00	260	cwt.	\$6,500
Peppers (Total)		4.0				\$6,500
Sweet Corn (Fresh) (Total)	10	10.0	350.00	3,500	doz. ears	\$12,250
Tomatoes (Field) (Total)	10	10.0	1,250.00	12,500	lugs (20 lbs.)	\$250,000
Vegetables (Total)		96.0				\$751,150
Wheat (Total)	6	1,115.0	53.00	59,095	bu.	\$237,178
TOTAL ALL PLANT ENTERPRISES						\$31,457,259

	FISHERIES & WILDLIFE ENTERPRISES PRODUCTION						
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value		
AQUACULTURE							
Crawfish (Farm) (Total)	80	18,400 Acres in Prod.	13,380,000	lbs.	\$16,056,000		
Catfish (Farm) (Total)		100 Acres in Prod.	150,000	lbs.	\$115,500		
Aquaculture (Total)					\$16,171,500		
FRESHWATER FISHERIES							
Crawfish (Wild) (Total)	280		4,807,145	lbs.	\$2,561,728		
Freshwater Finfish (Total)	130		493,200	lbs.	\$137,455		
Freshwater Fisheries (Total)					\$2,699,182		
MARINE FISHERIES							
Shrimp (Total)	20		2,562	lbs.	\$4,154		
Crabs (Total)	40		139,877	lbs.	\$91,675		
Marine Fisheries (Total)					\$95,829		
ST. MARTIN PARISH							

ST. MARTIN PARISH FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
Alligators (Wild) (Total)				2,535	ft.	\$63,375
HUNTING LEASES						
Waterfowl (Total)	35	22,000	No. Acres		acre	\$330,000
			Leased			
All Other Game (Total)	175	200,000	No. Acres		acre	\$1,400,000
			Leased			
Hunting Leases (Total)						\$1,730,000
Honey (Total)	8	5,300	No. Hives	927,500	lbs.	\$834,750
TOTAL ALL FISHERIES & V	WILDLIFE ENTERPRISES					\$21,594,637

^{**} The marine, freshwater and oyster data presented here are for the year 2005 rather than 2006. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION Units of Gross Farm Number of Total Units of Animal **Producers** Production Production Measure Value **CATTLE & CALVES** Steer Calves 300-400 lbs. 850 head \$422,539 400-500 lbs. 800 head \$446,220 \$321,408 500-600 lbs. 525 head 600-700 lbs. 200 head \$137,475 Steer Calves (Total) \$1,327,642 Heifer Calves 300-400 lbs. 900 head \$397,310 400-500 lbs. 850 head \$443,509 500-600 lbs. 600 head \$346,863 600-700 lbs. 200 head \$133,224 Heifer Calves (Total) \$1,320,905 Yearling Cattle 600-700 lbs. 300 head \$194,903

CATTLE & CALVES						
700-800 lbs.				225	head	\$160,228
Yearling Cattle (Total)						\$355,131
Cow-Calf Pairs (Total)				425	pair	\$403,839
Cull Cows (Total)				1,000	head	\$378,250
Cull Bulls (Total)				250	head	\$211,388
Cattle & Calves (Total)	215		No. Cows			\$3,997,155
HORSES						
Brood Mares						
Race Horses	6	25	No. Brood Mares	150	head	\$1,200,000
Show Horses	150	300	No. Brood Mares	525	head	\$2,100,000
Recreation Horses	225	350	No. Brood Mares	400	head	\$600,000
Brood Mares (Total)						\$3,900,000
Stud Fees						
Race Horses	7	50	No. Stallions	200	mares bred	\$500,000
Show Horses		50	No. Stallions	50	mares bred	\$75,000
Recreation Horses		100	No. Stallions	100	mares bred	\$50,000
Stud Fees (Total)						\$625,000
Race Horses (Total)	50			200	head	\$2,400,000
Show Horses (Total)	50			200	head	\$1,000,000
Recreation Horses (Total)	100			275	head	\$412,500
Horses (Total)						\$8,337,500
POULTRY						
Broilers (Total)	50			350	lbs.	\$225
Edible Eggs (Total)	125	4,000	No. Hens	100	doz. eggs sold	\$71
Cull Hens (Total)					lbs.	\$30
Breeder Flocks (Total)	25	200	No. Birds	50	doz. hatching	\$93
					eggs sold	
Poultry (Total)						\$419
RABBITS						
Fryers (Total)	10	2,000	No. Animals	6,500	lbs.	\$5,200
Does (Total)	10	700	No. Animals	2,800	lbs.	\$420
Rabbits (Total)						\$5,620

ST. MARTIN PARISH

ST. MARTIN PARISH

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
RATITE AND OTHER EXOTIC						
FOWL						
Emu (Total)	*	20	Breeders	10	each	\$500
Ratite and Other Exotic Fowl						\$500
(Total)						
SHEEP						
Wool (Total)		300	No. Sheared	2,800	cwt.	\$700
Slaughter Lambs (Total)				150	head	\$23,438
Feeder Lambs (Total)				100	head	\$7,500
Show Lambs (Total)				30	head	\$9,000
Stocker Sheep (Total)				30	head	\$2,250
Cull Sheep (Total)				85	head	\$4,250
Sheep (Total)	15	300	No.Breeding			\$47,138
			Ewes			
GOATS						
Show Goats (Total)				20	head	\$5,000
Slaughter Goats (Total)				100	head	\$12,500
Stocker Goats (Total)				75	head	\$7,125
Cull Goats (Total)				50	head	\$3,250
Goats (Total)			No. Does			\$27,875
SWINE						
Show Pigs (Total)					head	\$28,000
Feeder Pigs (Total)				2,300		\$69,000
Slaughter Hogs (Total)				750	head	\$90,168
Culls (Total)				100	head	\$16,000
Swine (Total)	50	160	No. Sows			\$203,168
EXOTIC ANIMALS						
Deer/Antelope (Total)	*		No. Animals	25	head	\$3,250
Exotic Animals (Total)						\$3,250
TOTAL ALL ANIMAL ENTERPRI	ISES					\$12,622,624
ST. MARTIN PARISH						\$65,674,519